‘amf_ wanmﬁmm@
(a)‘ 20(~/_ )m (C] 20(J§+1)

its tangen:t is -

-bottoin of the other are complemen—
" tary to. each other then th(f Value of
 x ( in metres) is
g 16 R Tl 91#&61%1
gl xHX 7R ‘Rﬁ‘

R B \Iart

“The angle, ¢ f
LA buﬂdmg
" d-tree -are

' —"..v o) 10(J_ —1) m (d) 10(J§+1)m

At a: point on a “horizontal hne.
- ‘through the base of & menument the -

angle of elevation of the top of the

*" ‘mionument-is found to be such that

5 On Walking 138

¥ meteres towards the monument the
_.secant of the ;angle of elevation is

: : J193 .
fou’nd-'to be 12 . The height of

the monument (in metre) is

) . . . 1 4 A
e & 39 f6g tangent - B TR FI

e 138;1.,%1@%11:@@%3&‘@33%

setant ——“ %lmaﬂﬁﬁaﬁ%ﬁql

(@42 (549 () 35 (d) 56

The distance between two plllar;s /'a\

of length 16 metres and 9 met res)
is x metres. If two angles of elﬁ
fion of their respective top from th

A f \“’"j '
g \\- Y

& TR, @

(a) 15 /%Z?(b)

the top and bottom of
and y respechvely If the
helght of the tree i h metre, then.
(it mietre) the height of the building is

e Toelt g o ol o e fig A Pl e
I g S I w1 AR T
. aﬁﬁ'ﬂihﬁa‘é ?ﬂsqr{aaﬁaﬁrgm

T

© cotx— coty

(e) 103 m

w;g“laﬁaaﬁg 8.

:;_:.;(a)',:iiébzoﬁx»+.co y ':

'hcoty

- hcotx ’
(d) cotx coty

ground is 30" ‘On moving a ‘dis-
tance of 20- metres towards the foot .
of the tower to a point B,. the angle

. of elevation increases ‘to 60° The:

‘height of the tower is
sgﬁwmfwaﬁgAﬁﬁ@rzms%ﬁﬁg _
1 S HI0T 30° 31 2R H 2 20X
aﬁmﬁgBﬂw%ﬁﬁgwm

»_mwz’rm% lzmaﬁmm‘mﬂaﬁf%;

ﬂ.:\‘
o

&»‘@

(a) 3m (b) 53 m
(@) 2043 ™
Two, poles of equal height . are stand—

SR
ing opp051te to -each’ othe;r or%t‘ej,,.‘

: The angle of elevatlon of the top of
a ‘tower from ‘a pomt A on -the .-

ther side of a road which” 1§%100m o

“wide. From a point between “them

. on road, angle of ’éleyahgn of their

tops ‘are 30° and 6 % 'Ehe he1ght S

of each pole ( in- metemls -

ol T B aﬂz“""‘“‘ G T
ma%“lrr{%amwﬁeﬁj@ﬁgﬁ@ui%

w @“aan o%‘mﬁm _
: (b) zoJ’ ‘
(d) 304/_‘m

a\‘chlmyney and roof of the. bu11d1ng
frofi a point on ‘the ground are x
and 45° respectlvely The height of
buidling is h metre. Then the height
of the chimney;(in metre) is

fﬁ aﬁrmﬁmwﬁsﬁ@ﬁmﬁm%&ﬁ

forrht & s=a Tg e S 1 I W0 x

(a) hcot x+ h

‘ (b) hecot x—h
(c) htan x—h

(d) htan x +h

"There are two vertical posts, one

on each side of a road, just oppo-

. site to each other. One post is 108

metre high. From the top of this
post the angle of depression of the
top: and foot of the other post are
30° and 60° respectively. The height
of the .other post (in metre) is

et T S SR @ e €1 o wd

T SR 108 Wt ¥1 59 EY B v=a Rk

11.

O 45° B VI B1 $9RE 1 S h e ] ,‘

TR T F v fiig v et g b serEe

01 30° T 60° 1 GE TN T W AR

(a) 36 (b) 72 ('c)v 108 (d) 110

szard @f Maths Rakesh Yad@w Sur

-.60°%l‘*ﬁ“a” T S
ﬁunna'rq?gw%)

. side’of the tower and AB =48 3
then the height of the tower is;

'm@ﬁﬁmwmmAmBﬁ

- (a) 2543 meter

" (0) 2442 meter

6}50 meter .’

25f meter -(d) 80 metern :

&’The angle of élevation ofAthe top ofr

o tower from two points A.and’B
. lying ‘on the horizontal through the s
foot of the tower are respectively 15°
and 30°. If A and B are’ori’ th' Same " “

‘E%T =% & v=a fig & I iﬁimm :
15° e 30° maﬁfag AT B TR H
T S feefd B A AB= 487, %ma@ﬁ
H SIS T4 HU o

') 24i’m§£éif

" (d) .96 meter

Two post are x metres apart and the
height of one is double that of the’

~ other. If from the mid-point:of the

line joining their feet an observer
finds the angular elevatlons of their
tops to be complementary then the

" height (in mteres ) of the shorter: ‘post i

T =g kAL iﬁwﬁm%am‘@
T F e gE W e QU
wﬁmnmwﬁg@ﬂ%mﬁ@
ﬁmww@aﬁwﬁaﬁﬁ

@ﬁﬁwﬂémﬁl

Bl%

9w

| ,(c") P
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(d) 4500 m

13 LA man standing at a pomt P is’

. ‘watching the top of a tower, which
" makes. an angle of elevation of 30°.
The, man walks some distance to-
wards the tower and then his angle

of elevatlon of the top of the tower

is 60°: If the height of tower is '30m, -

" then the distance he moves is :
ﬁgpmﬁqﬁwmmaamﬁ
ﬁgﬁi@ﬁrgamm—am@ww

S 3003 TF SRR T W AR EB W

mwzawmmﬁgaﬂwm
60°ﬁm3uwﬁﬁ$mm@matl

(b) 2243 m
(@ 2043 ™7

v 14;. --Ah aeroplane"when flying ate
helght of 3125m from the ground
~passes vertically below another/
plane at an instant when the angle
~of elevation of the tlo lanes from
the ‘same point on%\’th\el
30° and 60" respeot'vel

it tQ)V}) planes at-

o (a) 22 m

(c)20m o

m%ls@mﬁuﬁ@?

“l«

W{ﬁaﬁm i

(a) 6520m  (b) 6000 m .

”(c) 5100,9 m_ (d) 6250 m .
sza

30°ﬂ?41 60°%|ﬁ=ﬁears‘m$aﬁﬁﬁ e

,‘:A vertical post 15 fthlgh is broken
"~ -at acertdin height . and its upper part,
not completely separated meets the
s _ground at an angle ‘of 30°. Find the
o helght at wh1<:h the post is broken
T 159 S erngemnéﬁ CeAS SR
T TG W Bl g W H30° i BT
RN ¥ 9 S T B ol § g
(@) 108t (o) 5ft

(0 15~/_(2 \/—)ft(d) 5J_ft |

17.
its he1ght Then the angle 0 él—

“evation:of the top of the toweriis
et o o j
‘ Wﬁﬁ\% \3?{ J—

A r,gltﬁ@ﬂésﬁﬁgmwmmaﬁl
o (a)45° (D) 30° 3§ (Q) 90" (d) 90°
18. A manléft tall casts-a shadow aft
’ long. At the« same time when a flag

pole casts RNy shadow 50 ft long. The
f‘ He flag pole is

eqﬂzaa mﬁmaﬂqﬁza@
I T FUS I T 50 e sl
A 3 l‘ﬁavé 1 Fré T w2
(a) 80ft (b) 751t () 60t (d) 708t
.4 The: angle’ of elevation of an
aeroplane from a point on the ground
7 is 60°. After 15 seconds fllght the
elevation changes to 30°, If the
' aeroplane is flying at a he1ght of

1 5oof m,-find the speed of the plane
ferelt T STETS! 1 S IV 60° ®1 15

Waﬁmzﬁmmaﬁmso"s’tm

3 of T SR 150043 H. TAE W

Ems’fzﬁﬁ%waﬁmaﬁaﬁl

(b) 200m/sec '

(d) 150m/sec

(a). 300 m/sec
_ (c) 100m/sec .
20.

There are two temples, one on each

the sa strax
comp e ntg%
" towerdiszen

) ’r‘awmzra'{\j}ﬁvfﬁg@ o }b.{frm:

The shadow of a tower is 3¢l mtunesl@ 22

- 28.

24.

" bank of a river just opposite to each -

; other. One temple is 54m high.
From the top of this temple, the
 angles’ of depresswn of the top and

y’dﬁ; of Maths,-: Rakesh '_Yarda;vf‘siﬂ" —
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HVRTOE

‘;' from the'; a

. The angle of elevation of.

feog foig Baen Q@méev—q{ﬁgé
aﬂww—@#w%nmﬁ

a
e

{c) ab {d): a’b2

from a distance 100 m from. its foot-
is 30°. Height of the tower is. 4

o @ P g @ 100K TR

ﬁaaﬁgﬁeﬁamﬁgmmﬁw'
30° @1 @qﬁa—m’émml 7

100
(@) f/}j‘m .
- 200 o
© ™ (d) 1003 m-
A pole stands vert1cally inside a
scalene triangular park ABC. If the

b)sox/—m"

" angle of elevation of the top of the

pole from each corner ‘of the park ' ‘
is same, then in AABC; the foot of .
the pole is at the - ,
foeh Tereag TSR I AABC FdH
ﬁg&ﬁﬁmﬁ#wfwaeﬁmww :
TR SE e S R e g
(a) centroid (b) circumeentre .
(c) incentre -(q) ‘orthoeentre -
If the angle of elevation of a bal:
loon  from =~ two. consecutwe '
kilometre-stones along a road are.
30° and 60° respecnvely, then the " -
" height of the balloon above the
ground will be = it
1 fert. @mﬁ%ﬁwﬁ@r@gaﬁ% -
T IV 30° T 60"'31':13115[@%'1' '
a-znésﬂaﬁl ’

@gm. 05 km




(a) 72 m (b 60m -
S e) 65 ‘m: (d)"70-m -
©°26. 7 A tower standing on:a horizontal’
0 plane subtends ‘a certain angle at a
. ‘point 160 m apart from ‘the foot of
- the tower. On advancmg 100 ‘m to-
. wards it, ‘the tower is found to sub-
“tend ‘and angle twice as’ before. The

" height of the tower is

TR T B R R 160 T ‘cgﬁuaﬁgﬁ
o e e e i I i aeR TR
: - ﬁmﬁmoﬁ@aﬁmmm-@rm
L iR S w9 W '
i co ‘(@) 80m (b) 100 m
() 160 m (d) 200 m
l _' 27. The angle of elevation of a tower
. from a:distance 50 m. from its foot
3 o * " is 30° The height of the tower is
mwmmasom@mﬁaﬁ@
ﬁngmmﬁgmwﬁmsm
‘%lwmmsﬂaml ’

. ‘50, . -
@soEm - (b 5m

: 75 -
(© 75J_ 3m @ Fm -

The length of the shadow" of a vertical
tower on level ground increases by
10 metres when the altitude of the
sun changs from 45° to 30°. Then
the height of the tower. is

mmwwn 10 4L arqﬁ:glmo,
& G A I F945°F 30°’-'ram[,‘€| p:
Eﬁ?ﬁﬁ&"aﬁﬂﬁaﬂl A8

28.

)10‘(\[5 +1) m

(a) 545 metre

rA L,

© S(s/— +1) metre (d)A 10J_ “umeter ’

The elevation of thg top of, a"{ower :
from 4 point on thé.gr und is 45°,
‘On travelling 60 _m fm_}n the point
towards tha‘(to fer elevation of
the. top becon es »6}‘ The height of

29.

| the tower ( metres) is
| - fﬁg@zﬁtwmw
l 45°%|aat aﬂzsotﬁ TeH W AR FH
S I 6098 m%uwaﬁmﬁmaﬁl
t o ‘(a) 30 (b)»SO(S-J—).
| ‘
(c) 30(3+~/' ) (d) 3043

©7 16 metres and the two points lie

" on the same side of the- pillar .
- Then- the height of the pillar is"

et o e o faigalt @ W @ v feigedl

T S HI0 Th-gE OO ¢ A T 35

.ﬁgm{u&ﬁgaﬁ@ﬁ%uﬁ@{ﬁmm

o . 9u1 167 §) WY i e 7w
(8).5m - (b) 10m (c) 9m  {d) 12m
‘The top of two poles of height 24m
and 36. m are connected by a wire:
If the wire makes an angle of 60°

" with ‘the horizontal, then the length
of the wire ‘is

- 24T U 36 . %mﬁg&ﬂaﬁ@m
- ireT ST §1 AR AR st ¥ 60° F HI

31.

R T T IR

(b) 8/3 m

(c) 8 m- d 6/3 m
From the top of 'a hill 200 m (g
‘the angle of - deprcssmn of the )

(a) 6m

"32.

i 'ﬁﬁgﬁ%ﬁﬂﬁg%ﬁ%m 30° -

. am«somzmﬁmrs’amml

N

33.

n_}.{,a‘j 't{)wer 125 ‘metres h]gh the
angle of depression of two . objects,
Wﬁiéh are in horizontal line through
thé base of the tower are 45° and
30° and they are on the same side
‘of the tower. The distance (in
metres) between the objects is

12541, aﬁwﬁﬁm&ﬁ#m\
m45°am30° |aﬁa:ﬁ$aﬁ%raﬂ1ﬁ

(a) 125¢3 (b) 125(+3 -1)
() 125/(\/5—1) (d) 125(V3 +1)

Year 2014

From a point P on the ground the
. angle of elevation of the top of -a
10m tall building is 30°. A flag is
hoisted at the top of the building
and the angle of elevation. of the
top of the flagstaff from P is 45°.
. Find the length of the flagstaff (Take

«/5:1.732‘).

o
St

34,

na stralght Jini th ugh the -
, ‘the- two angles ‘of

N

- 3complementary o ‘each other I thev’" »
+ . distance’ of the two poinits from the ey
- faot of-the pillar ‘are™9 métres and‘ e e

37.

38.

szard of Maths - Rakesh Yadav Szr

* g vértical tower situate Pel’pendxr:u.f-’

“(c). 20 m

(a) 10(J—+2)
(C) 10J_m )

The angle of elevatlon :

larly on a plane is observed a5:60° . -

from a point P on the ‘same: “plang:

. From. another\ point: Q;: 10m vertl, ‘
43 .

cally abgve tlfe pomt P, the angle of

depressmn of the foot".of the towedr:

is 30‘M a’l’he \helght of the tower i§

mﬁwﬁﬂaﬁspﬁmmﬁmﬁg
g H 60° 81 fig P 103,

R m@w@ameﬂwﬁgeﬁm%

ﬁg F eaawr ﬁvr 30" '&'I zraz #
{a} 15 m (b) 30_-19_ o
@25m
From a point 20 m away ‘fx('o:rn _the
foot of a tower, the angle of eleva-
tion of the top of the tower is 30°

- The height ‘of the tower is

et o & W ¥ 20 W, R ferd Fag
w*mﬁgmmaﬁws&%aw
aﬁﬁﬁi{mml .

() 10y3m (b) 20.\/‘3' m
(e) Bm (dJ -Tm B
The angle of elevation. of ladder
leaning against a” house 1s 60°
and the foot of the ladder is 6.5
metres from the house. The
length of the ladder is .

- Terdll <lem W R Wit w1 =T i 60°

2. Wit 1 e e ¥ 6,5 W W

e €1 i W o 9@

@ 73 {b) 13 meters
(e 15 meters (d) 3.25 metres
The angle of elevation. of sun
changes form 30°to 45°, the length
of the shadow of 4 pole decreases
by 4 metres, the height of the pole
is (Assume J— 1.732) '
q;afao-r I FOT 30° 7en 45° 81 @4 )
o 4 . mﬁaﬁr%laﬁﬂﬁ

S WA R -
(8) 1.464m - (b) 9464 m . . -
(c) 3.648 cm

(d) 5.464 m
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(d) 50 m

The length of the shadow of a vertical
er.. on-level ground increases
10 metres when' the altitude of
ihe sun changes from 45° to 30°.
~Then the height of the tower is

@mmm 45° 9 30°msfﬁut
CcameE e d 107 # gis T TieER
'aﬁwéaram

@5 (/8 +1) metres
E : (b) 5(\/_ )men-ms
(o) 543 metres
- = . 5
,;;-(d){; 7—3' metres

41. If a pole of 12 m height caste a

shadow of 43 m long on the -

gro‘und then the sun’s angle of el-
evation at that instant is

127, 9 @9 F I 443 T T B
" gh o A O 9
@) 30 (b) 60° () 45°

(d) 90°

- LA
NN
; o

e 30°%wzﬁtaﬁaﬁt R

' faa'-rwwaﬁvrso‘*z’fmawﬁ :
'ﬁls’iﬂﬂaﬁl'

() 10 meter (b) —J—§- metre
(¢) 1043 metre (d) 353 metre
From the top of a tower of height
180m the angles of depression .of
two objects on either sides of the
tower are 30° and 45°. Then the
distance between the objects are
fadft 180 . ﬁzﬂiaﬁaﬁfaﬂtﬁmﬁ
| Torgalh & st i 300 Aem 45° 1 A
gl & &= &7 T 9 R

@ 180(5+48) 1 260(3- {)&\

() 180(v3-1) (d) 180(\7—\“

From the peak of a hlll which is
300m high , thc(angle of depres-
sion of two s1de,-3xof a bndge lying
on a ground are ¢5/ and 30°(both
ends of” the "bndigg are on the same
side of the;«hﬂl) Then the length
of the rxdge is

fﬁ{ﬂ 300131 ﬁmﬁ@@aﬂim&a
"?ﬁ’( st & ST T 45° T 30°
agaarmémam

44,

&,
%

"rlver are: foun to
respectwely If he

30“3171&3;?61#%1% 400111 % =r<°ra="‘
w»wréamaﬂmﬁmw

P, \ :
2 a) “1473.2 metres  (b) 346 4 metres .

(c} 519.6 metres (d) 692.8 metres
463 “From the top and bottom of’ a

%aa:‘/ straight hill, the angle of depres-

sion and glevauon of the top of’ k

" a pillar of 10 m. height_é.;c ob-
served to be 60° and 30° respec-
tively. The helght(m metres) of.
the hill is

T W $ WY AR 9@ ¥ 10 .
Y S O W o SR IR
I AN 60° 3R 30° fke W %,
mmm (tﬁaﬁ)ﬁmﬁt%’ :
() 30 (b) 80

(c) 60 - (d) 40
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RN

S

TR,

/////////////

. Lo P Casel
;‘f~ ) ) e ‘6}0“ = tan,6‘0 - B. e Perpendwular—> 7
" ) _—-—>A35

: Base:
angle of depressmn (ST'él"IEFI aﬁm) AR

. B -2

- APAC—.—B'(- angle of depressic;'ri) -
JPAC = zACB=0 ( we will take .
‘angle’ ZACB as angel of depression.

we will follow this approach.in the
.'given quession to save time. :

If G +62 = 90 then x=yh;

1@ SR (h= height of towers)
v A o x= ~J16x \}14 = 12 mtr
4. (o)

Ui e

> Shadow < D , % .atlo lizing - Wﬁﬁqﬁﬂmmﬁm) L LD N
Shadow D d 3
- 20.mtrs 2. “AB = tree 'h" i
ﬁg (1) © o fig (i) MD = Building i3
DB =CA='d.
,—.>pomts to: remernber (W@W‘jﬁ)’ In  AMCA 5
: o v perpendigular(P Shortcut approach L ‘ ' tanJF-I\i(z—& ;
P e = c \ ;
1t030’=>tan30° \ Ba . I* Case: o | AC d
H=" N%) S '=A‘_B-=1%Lmﬁ_’l - =>d=—— =d= (1 b oot x ...l
P- d tanf BC Base . 5. ) tanx
B It Case: -~ . _ In AMDB :
: MD :
. AD_Hypo s
Seco. = BD Bas d DB

cd=1 coty .........(u)

. from equaltion (i) and (i)
(L ~ h) cotx = 1 coty
(I —h) cotx = l-coty

In" AA
o Al  leotx —h cotx = 1 coty:
Hypo = Jios. : -+ T heotx=1 (s:d,tX—rcofy). ®
. Base = 12 . ar _hc’ot.x' :
Then perpendlcular =17 1= ..eo.t‘x‘v—‘:c'oty
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= «/‘ (100 J’ 3h)
(Put the value of x from equatmn T ,.'
(1)ﬁxarmr@%m) R
= 10043 — 3h h :>4h = 1‘00\/_

h
7. (b) AB

1l

254-_ ‘metre ' s 72 metre
Building = h metre 9. L

CXNCB

K = Kite
= thread = 150 metre

KA = height of kite from ground :
(S W i  SE) TR

In AKAB

g

Put the value of d in equation () tan60° = 3

R
'\/§h,_-\7§+2—0

. h+2043
J3h =T Nal

Ry = hcotx o A ¥h= 43
“h+ 2043 @ ':;V:;’ ‘(heot x ~h) metre - ' AB = 1 )
: ' ' " 8%'\ (b) A then KB = 2 (By phytagoras theorem

o - 203 S R D 30" | (RETI 7 10)
_ , : D

d : BN
L KB : AB: h(EA)
A hf10\/§ metr.e é\ % %, | . wis’ |75

108mtr B

In AACE i oo meere e[S m

AC - R T
tan60° = Gp : 10. (b)

J3 AC ' ' ;
NO X - AC:CE = 31w ()
‘BD = 1 CE B v v
AB = CD 'h" metre (Helght of pole ~In AABD

jf‘ln AABP (Frogst AABP ﬁ@‘ﬁﬁmg) : R AB

: tenSO." = BD -‘

s tan30°~ﬁ
. X

gizard of English - Inderjeet Sir -
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In AAOB

l .
| 0°=0)=—
l - tan(g ) 30

Multiplying both equations
(1 TR 1 I FH W) A

A Ry

2h.
22X

tane cote

B

AC = [3 - umts

AB = (\[3— 1)1,'Lmts L ?@0 («/5 —}1)

ﬁzﬂa

Scanned by CamScanner

sooo S

=>AB:BC= 3.1

15.

In ADCB
._BC
Tan30° = & .
1 _BC
J3 DC
BC:DC=1: /3 .« (i)
NQW, o : o
~ _AC : DC : -BC
J3 o1 :
NEEEEE
3 i J§ i 1
, ’ - (3125m)
AB = AC - BC _ RN
=3 = 1 =2 units

=2 %3125 = 6250 m
() : _

w2 >

C aﬁ@_fm' D -
" h = height '
In AABC

Lt age = 2B
an BC




Geli L AB = cp = 1500«/' (helght of U
i . arcoplane (ARAH a?r Bﬁﬂé))
s  In APDC

t ﬁoe_C_D
ano = mp

€D . ,
V3 =35 = CDPD= J3:i..()

t 300 - :A.;"B—._
anst’ = B

' | 1 _AB ’
h=> 30( 3”)m 7 . 57pp =AB:PB-
16. (b) ' AC=BDand AB=CD Ry
PD. : AB “PB
1
S B M _ _ In AAPB
© . MAB was straight earlier (MAB ®%& 1 - "
@i ) . . D%\ = tan(90 —e)_ﬁ
AB+AM =15 ft o 24 _ .~ )
In AABM : ’ , \ Lf_gumts 1500fm | ~ co="
AH - :-163%\%%1500m , o 5
' tan30° = A €A = DBfS 2 units = 3000 metre By multiplying both equaltion (&t
‘ i:xﬁgaw Distance . 3000 =200 e R I A )
_1_=;AE el Time - 15 - - - h n
J3 BM ; v tanf.cot® = —x—.
5% b A ' ‘b a
If AB=1 v il : o T
: A% ’ N : : h2 = ab h= ' g
, BM = \/§ “IQ F‘\\ R T 30° | c an = ) \EE
Ithen AM = 2( By phytagores theorem) 3 El dN\o : 22. 8 A
AB + AM =2 +1 =3 units 7 15 fts /I
AB = B D
(b) A AB and CD are temples (AB @ CD HRX ¥)
BD = width of river (& I qer)
1 AB =54 m
' In AAEC AB
B : : AE 1 tan30°® = BC
i el VY tand0 = g = 5 = ABiBC=1: 3 C
‘ \&% b, . =l
In AABD - 3 BC
. tan@ AB o
5 tan60° = 55 = AB:BC= 1
. tanf =tan30°= 0 = 30° e RN
18- () Height - ShjffO 5=25 = AB i BD = B i1 Jo L
SR e : . e -
‘ 'EB = CD and EC = BD - B

3 g

wizard of English - Inderjeet Sir
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C 10m

= tower ='h ’é‘?{\

N

V3
25. (b} Height : ‘Shadow : ?‘B BD
Stick 12 : 8 ' : o
Tower —>3 : 1 J§
A“ 7
Jj20 *2% \‘3 1
3 o
60m 40m 'CD = BD - BC .
0m 5 -1
26. (a) .
(«/§~1)‘ units = 10 m
‘ _ . 10
(AB)' = 1 unit = Tg—_l
= 5'_(\/§+1)7 ‘metre
2 le) ' -
exter. /ACB = ZCAD+/ADC h
29 ACAD"‘ 9 I
. ACAD 0 ,
. AC'= €D B C360m @.u

AC = 100 m’ AB helght of tower E% Elﬁ ng)

A ‘.. »‘l <o 'V
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= Pillar
BC = 9 metre
BD = 16 metre

£ADB=Q
In AABC
S AB-
vtan(90~6.) = &BC
_AB b
cotf = BC—9 (i)
In AABD
_h
tan® = 16.“"""'(11)

By multlplymg equaltion. (i) and (11)

h h
tan® . cote Xz

‘9716

= h?= 144 o

h = 12 metre .
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o4

- CD = ?61— 24 =12 m)

In. AABD
tan60°® = ——
an =)

AB
J3—=—]3-=AB:BD=J§;1.

PB = CD and PC = BD

Now
AB
CD
co & 2
AB = Y nits =
CD = 2 units =

/3 PC =AP: PC= 3.1

c
—' 60

B D
AB = hill =200 metre
‘CD = tower
In AAPC

tan30° = o

~ PC

1 _AP

units
200 metre

290 x 2.

AT,
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In AABD = tané@" _ 4B
; %"= Bp

= AB:BD= 1.3

Now, .
- BC : AB q a9
1 - 1
e
1 -
= waer.--‘

‘= 10 metre

. op
~ PB
J3 PB =>QP:PB = 1./3.... i
tenes = 28
an BP.
AB - bulding = 10 m \/§=E:>AB:‘BP=\/§1 ...... (i)
In AABP R
CB = QP and CQ = BP
0w 22 - Now,.
tan30 BP ) . o
AB : BP : .CB
7 " Bp ~ABiBP= 1: N i s
ot B
In AFBP
. " FB :
tan45° = o5 : 3 ¢+ B 1
: %10 RN lj<1@
_ FB - : 30 1 10 metre
1= o5 = FB:BP=1:1..( B30 metre S




6.5 metres .

AB

n

‘poleCE = tower
10 metre.

age o 2
tan?,o_AD

Jé:BE_AB‘

In AACD

I
o~
&
i
Nt
&
20
P ll],f
=
S
LB

: (10
Lunit = 51

lXIO T '-\li%lo! e X
10 metre I 30 metre o

CE = CD:+ DE Lo _ tand = J3 = tane0®
= 30 + 10 = 40 metre- ‘ . |

&l

@ A .

. 4‘5:' .. 30° o« .
B coloms p

AB = Hheight of tower In AACD.
SRR . £ACB'= £CAD+£ADC - -
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AB = height of peak (aﬁa’t ﬁ ﬁiﬁ)
300 m )

CD = length of Bridge (at—r % mls‘)
In AABC

| 450 = :A_.B_ '
tan: BC

- 1= BC AB: BC=1:1 R

o In AABD BC = BD + DC
L oi_éB* Lo ' . : =1 + 3 4umts.
tan 452 BC ' Lo tend0° = 4 units = 400m
: ' 1 unit = 100m
= 11 e (1) L AB
. 7 J3 BD AD = /3 wunit
In AABD - : -~ Now, . L = 10043 = 100 x 1.732 = 173.2m -
! - 0= BC H . .
.00 AB 1 A‘%\ : 46.(a) According to the quegt[on-. o
. BD G\\:Ewl JNE)
; AN, : é
; o . SR — . §
J3 BD _ A q%;= BD - BC
AB:BD=1:43 -eeoefil) \’Qxyc]j =3 -1
AB BC BD " AB = 1 unit = 300 metre
1 1 - /{, ( J3 __1) units = 300 (\/5 —1) metre

T
1 1 3

- CD'=BD + BC

@ &

B D c 1 units —s 10
€ — 3 units —> 10 x 3= 30
Height of hill = 30m :

B

BC = 400 metres

D
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